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Choose the correct option for the following questions. 1x15=15

1. The volume of a liquid is 830m? at 15°C and 855 m® at 90°C. y of it is
a. 2.5x107*/°C b. 3% 1073 /°C C. 4x 1074 /°C d. 5% 10~*/°C

2. Adglass is fully filled with water at 4°C. Water overflows when the glass is
a. Cooled but not when heated b. heated but not when cooled
c. Both cooled or heated d. none of these

3. The coefficient of volume expansion of water is zero at
a. 0°C b. 100°C c. -40°C d. 4°C

4. The internal volume of glass vessel is v m®. What is the volume of mercury that should be placed inside the
vessel so that it remains constant at all temperature? y,. of Hg = 0.00018/°C, a of glass is 0.000009/°C
a. 0.1Vm3 b. 0.15 Vm3 c. 0.2Vm3 d.0.3Vm3

5. On heating a liquid of cubical expansivity a in a container of linear expansivity % the level of liquid in the

container will

a. Remain the same

b. rise

c. fall first and then rise to a level above the original one
d. fall

6. At 5°C, 0.97 of the volume of a body is submerged in water. The temp at which the entire body gets submerged
in water (y,, = 3.3 X 107*/K ) is ( neglect the expansion of the body )
a. 98.7°C b.88.7 °C c. 78.7°C d. 95°C

7. Liquid with coefficient of volume expansion y is filled in a container of coefficient of linear expansion «. If the
liquid overflows on heating then
a. y=3a b. y > 3a c.y <3a d.y > 3ad

8. At constant pressure V; and V, are the volumes of a given mass of a gas at temperature 27°C and 54°C
respectively. The ratio % is
2
a. 54/27 b. 27/54 C. 100/109 d. 109/100
9. A given amount of gas at 20°C has a pressure P. the temp at which the pressure will be 2P (at constant volume) is

approximately
a. 113°C b. 40°C c. 213°C d. 313°C
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When temperature of a gas contained in a closed vessel is increased by 1°C, its pressure increases by 0.4%. the
initial temp of the gas is
a. 25°C b. 250K c.250°C d. 25K

A gas at temp 250K is contained in a closed vessel. If its temperature is increased by 1K, then its pressure will
be increased by
a. 0.1% b.0.2% c.0.3% d. 0.4%

A gas at certain volume and temperature has pressure equal to 0.75m of Hg. If the mass of the gas is doubled at
the same volume and temperature, its new pressure will be
a. 0.75cm b. 2m c. 1.5m d. 0.375m

If an ideal gas has volume v at 27°C and it is heated at a constant pressure so that its volume becomes 1.5v, then
the final temp is
327K b. 873K c.177°C d. 600°C

A vessel contains 1mole of oxygen gas at temp T. The pressure of the gas is P. An identical vessel containing
1mole He at temp 2T has pressure of
P/8 b. P c. 8P d. 2P

A cylinder contains 10kg of a gas at pressure 10’N/m?. The quantity taken out of the cylinder if the final

pressure is 2.5x10° N/m? (temp of the gas is constant) is
7.5kg b. zero c. 9.5kg d. 14.2kg
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